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1. The OMR Answer Sheet is inside this Test Booklet
When you are directed, open the top seal of Test
Booklet, take oul the Answer Sheet and fill in the
particulars carefully with black ball point pen only.

2, The test is of 120 minutes duration and consists of 150
objective type questions, Each question carry 2 marks
for correct answer, Negative Marking: For every four
wrong answer, mark for one right answer will be
deducted.

3. Use Black Ball Point Pen only for writing particulars
on this page and marking responses in the Answer
Sheet.

4. Make sure that the Test Booklet No. and Series marked
by vou on the Answer Sheet is the same as that on this
Booklet.

5. Rough work should be done only in the space provided
in the Test Booklet.

6, The answers are Lo be recorded on the OMR Answer
Sheet only, Mark your responses carefully. No
whitener/ eraser / Blade is allowed for changing
answers.

7. After opening the Test Booklet, please immediately
ensure that no page or question is misprinted, torn or
left blank. If any discrepancy is found in test booklet,
show it to Invigilator and get it replaced with test booklet
of same series.

B. For any question if there is any discrepancy in Hindi or
English language of that particular question the English
version of that question will be considered as {inal,
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SECTION-1 | GENERALAPTITUDE TEST | 25 QUESTIONS
Q1 Find the odd one out of the below Q1 f=fafaa suffdl angfaat 4 4 firs

geometrical shapes. HPia B YEAF H |

Rhombus, Triangle, Square, Parallelogram, ﬂ‘ﬁ‘g}jﬁ’f f'\?'ﬂ?! Tt HERR i@jm‘ M,
Rectangle, Trapezium GLCL LT

(A) Rhombus - (A) Taqa

(B) Triangle ®) g

(C) Parallelogram 8 (C) FHiTR aeqa

(D) Trapezium (D) HHera aqt

Q2  Find the odd one out from the below group Q2 f=fefaaa sm wel 3§ 9§ s @)

of names, gEE™ ifon |

Guava, Watermelon, Lettuce, Apple, Kiwi, HAWE, ARG, WAy, 94, Fd, amm,
Mango, Pear, Pomegranate AT, AR

(A) Lettuce (A) HEATE—gw

(B) Kiwi (B) @

(C) Pear (C) =Tagwh

(D) Pomegranate (D) ¥R

Q3  Study the below diagram and identifythe Q3 fr=fafas sma & sreas od afw aw

option that is NOT correct. fawea @1 99 S o wf 9 #
Goat T

(A) Some lions are not goats (A) ®B ¥R awfval T &

(B) Some goats are lions (B) @© Tl ™ #

(C) Lions are not singers (C) I} Tas 8 &

(D) Some goats can sing (D) &9 aa@fedgi M wEHa) &
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Q4

Q5

Two positions of a dice are shown as below
If the number 6 is exactly opposite to number
4, then which number is exactly opposite to

number 37

AT TR A VT

(A)
(B)
(C)
(D) 6

td

Lh

Deepak left his home and walked 4 km
towards east, then tumed left and walked 3
km to reach his office. His sister Deepika
left the same home, walked 16 km towards
east, then turned left and walked 8§ km to
reach her college. What is the shortest
distance between the ofTice and the college?
(A) 10km
(B) 13km
(C) 17km
(D) 18km

Q4

Q5

frafafiga & o 9 & @1 Refoen
wefifa & 7 &) uft Jun 4 e vEE
# facma RAuda 6 8 o @& 3 o=
Had © fMemd faud 9 e 87

' .
(A) |
(B)

(C)
(D)

n

=4

dus ifhw oM @ o aos e @
F@a@t 4 km qma @ 3R g §, R
Y qe &% 3 km gear §| IHDH qE€A
difter Fioa o @ fae ol wwoW
fremerey 16 km qea @ 3l goreh &, e
i ag ¥ @v 8 km wed &) 3iiftw
IR P @ ma wyeem gh e 87
(A} 10km
(B) 13km
(C) 17km
(D) 18km
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Q6  Ifthe pentagon shown below is rotated anti- Q6 ufe Fw=fefEa 4 vei¥a o &1 ad)

clockwise 270° three times, the thombus is @ g @ RAoda G A a9 oan 2700
rotated clockwise 45° four times, and the g e @, wrEgde ud) @ gl o
mirror image of the alphabet is used, then fGem # ar aw 45° g omn &, afw
what is the resulting figure? wer &1 wiv wfafds Suam o onen

m ufRoeh sl s @ 8rf?

R

CORONORE)

(C)
(C)

(D)

(B)

(D)
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Q7

Q8

LM-A

Below is a statement followed by two
conclusions, Read the statement and
conclusions and determine which
conclusion(s) logically follow(s) the statement
given.

Statement:

For late return of books by readers, a library
charges penalty of ¥ 10 per day for the
number of days of delay beyond the due date,

Conclusions:
1)  Penalty for costlier books will be
higher.

1)  Penalty for lighter books will be lesser.

(A) Only conclusion I follows

(B) Only conclusion Il follows

(C) Eitherconclusion [ or Il follows
(D) Neither conclusion | nor [1 follows

Choose an option that is a valid assumption
for the below statement.

Statement:

The Ministry of Railways introduces
additional Holiday Special trains and also
adds extra coaches to existing trains during
vacations.

(A) During vacations, kids love to travel by
trains instead of aero planes.

(B) Passengertraffic in trains significantly
increases during vacations,

(C) People need change and like to see new
trains during vacations.

(D) Enginedrivers like to work for more
hours during vacations,

' B

Q7

Q8

Frferftoe v wem afiv owe wafeo 87
fresd fag w1y & | wem ol Frest @ o
afw fuifa =Y & &9 w9 Pl
aifde wa @ Ry Tu FuE 1 s
war /@ 8/ ¥

.

UF YRy giew g fAde § gwe
e H Wy, arge @) Fuifa @il @
are fwfan fRH & fov wf fem T 10
TR T §

s

D wER g B fg aids aRw
BITT |

m wwh qwast @ forg aefee a9 g

(A) dae Fresd | s @ &

(B) dwrer Fresd 11 s s &

(C) ar o fyesd [ a1 Frsd 11 s
s #

(D) 7 o Fed 13w = & Fresd 1)
AER TR

oW [A@en @1 ag sifoy a1 Frsfatfta
e @ forg du qdemon &

FUT:
¥ WA A gitdl @ o et wWea
#1 e € wur e 291 A afafRe
fe wird &)

(A) gfedl % 7= gard wETa @ AW
29 W YA H g da §)
(B) afgdl & <R 21 d afydl 6 fe
a3 e 8 )

(C) @ ufgal 4 ssam amd # afiv ¢
29 @A oEE T 8

(D) §ur \re® gigdl 3 afe @2 am
AT YT N & |
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Q9

Q10

Read the statement below and two courses
of action given. Choose which course(s) of
action need(s) to be taken with regard to
the statement given.

Statement:

Despite having a standard work timing of
10 am to 6 pm, there has been more number
of cases of employees reporting late for
work, which affects the work flow in the

factory.

Courses of Action:

I.  Theemployees must be givena
waming and strict disciplinary action
must be initiated ifno improvement is
found.

II.  The work timing must be made flexible
so that everyone is able to come as
per his or her own convenient time.

(A) Only Action | needs to be taken
(B) Only Action Il needs to be taken
(C) Either Action | or Action [l needs to
be taken

(D) WNeither Action | nor Action |l needs to

be taken

If Puzzle :; Solve, then Essay :: 7. Identify
what can come in place of 7.

(A) Resolve

(B) Dictate

(C) Recite

(D) Write

LM-A

1000

Q9

Q10

Frfafere sus & o gwd 4 &
3 frofafldl &) g | 999 & & Ry
M HYE B Hed d a9 @ frnfafi
frafaftmai argeng s Tnf@e

wme:

- B W AR gaw 10 a9
U WA 6701 TF B P qrEgE, T
ar @ & 5 sl e w W A
3 # Fored s 7 am-wra wnfa
gl &1

frarfafer

.  @Fwaiar & gae- & o 6 afy
o R 8 g 8, o 9 Reg
FOR FORTS Hrand)
g |

[, @ @ sk o6 9 gy e
Ueld wET A9 it wHy
gy W U 3 WD |

daa frafaf® | e o wah 2
daa fsmfafy i sod on g &
a1 o fsarfafer 13 1 soeng on
el &

7 ot firafafy | afw =1 & sl 1)
HYTE W HEd

(A)
(B)

(€)
(D)

afg ugeh :: aamm, o Few o2 s
w6 wwAfaes (47) @ WM W

friferfeae 3 & @9 w1 we an waar 87
(A) &S
®) feraarm
(C) Jqare
(D) foan
SERIES-A-A




Q11

Q12

Q13

Q14

LM-A

Select the option that is related to the third
term in the same way as second term is

rélated to the first term

Temperature : Thermometer :: Humidity : 7
(A) Spectrometer

(B) Seismometer

(C) Hygrometer

(D)} Osmometer

In a certain coded language, if “LITMUS”
is written as “SMIUTL" and “INDIGO" is
written as “OINGDI", then how is the word
‘JAGGER' would be written in that language”?
(A) RGAEG)
(B) RGIEGA
(C) RGAGE]
(D) RGIEAG

In a certain coded language, if “TABLE is
written as “VEDNI" and *CHAIR’ is written
as "EJEOT, then how is the word *“BENCH'
would be written in that language?

(A) DIPF]

(B) DGPEJ

(C) DIPEJ

(D) DGPFT

If P@Q means P is the husband of (; J#L
means L is the son of J; and NSM means N
is the brother of M, then which of the below
options definitely states that B is the mother
ol A?

(A) A#BSC@D

(B) CSD@A#B

(C) BSCHA@D

(D) D@BH#CSA

Q11

Q12

QI3

Q14

I fa@eu &1 a9 & o IR T 9
o ove 9 wafta @ form ave @ g
7 UEd g § wala £

YA : epfreR o ardar: ?
(A) WEmmes
(B) ¥Hroinfrey
(C) EEUMfew
(D) afwmier

UF e um § afe “LITMUS” &
“SMIUTL" ferar e & a=m “INDIGO™
1 “OINGDI” féran wrar &, o o) 5
YT § W JAGGER® & #9 foran
AT

(A) RGAEG)

(B) RGIEGA

(C) RGAGEJ

(D) RGIEAG

U& e W # 4f% “TABLE’ &1 *VEDNI'
foran simen 8 @1 *CHAIR® &1 ‘EJEOT”
ferear e &, o o 3= W  *BENCH®
@ &y forar smgm?

(A) DIPFJ

(B) DGPEJ

(C) DIPEJ

(D) DGPFT

g P@Q@ T I e Qe ufy p &
JHL @1 aed & f J w1 g3 L &; afte NSM
1 3l & f5 M &1 9 N &, o Prferfam
i 9 P W Raen giftao o 8 5
AT Hf B®?

(A) A#BSC@D

(B) CSD@AHB

(C) BSCHA@D

(D) D@BHCSA

SERIES-A-A
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Ql5

Qlb6

LM-A

Giiven below are four statements followed
by four con¢lusions. Identify which
conclusion(s) definitely follow(s) the given
four statements disregarding the commonly
known [acts.

Statements:

1.  Alldogsare cats

2. Some cals are tigers
3. Alltigers are lions
4. Nolion isadonkey

Conclusions:

[}  Some cats are dogs

1) All lions are tigers

1) Some donkeys are tigers
IV) Notiger is a donkey

(A} Only conclusion | follows

(B) Only conclusions I and 1V follow
(C) Onlyconclusions Il and 11l follow
(D) Only conclusions | and IV follow

If the below alphabets are formed as per
the ascending order of their appearance in
the standard alphabet series, then which
meaningful English word can be formed using
the alphabets in 1%, 4% 6% 9" and |6"
position from left?

XUIHOLETBWMRKSAGC
(A) STEAM
(B) WHALL
(C) MEANS
(D) SHAME

Q15

Q16

Freifefls § ar Tu= v 9@ 9% OR
frepd Ry v &) ffga &% @& @
W/ Fresd R v Fuet & faftes
w0 A STE wwan 2/ e @ 2
aH e E S aedl | e et

HYU:

1. i e fafeaai €
2. oo fafesa o &
3. it 9 9w &

4. I 9% O A8 B
IECOE

N %o fafeaal o= &
i) it 9 am &

iy v ™ a9 §
V) & amg e & @

(A) ®acl fepY | SR &l &

(B) @ Fresd 11 3w 1V s s
#

(C) daw Frend 11 3 11 JER &
#

(D) ®ad Fresd 13k IV sgae &
2

afz Fr=feafaa el & wee avfen &
IHR FE A A A A, a4 A
ugd, 9o, u8, 7 3V wieEd e ae
et A @ A syl sAh we fMiffa
81 W &7

XUIHQLETBWMRKSAGC
(A) STEAM
(3) WHALE
(C) MEANS
(D) SHAME

SERIES-A-A
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Q17 Study the below series and identify what can Q17
come in the place of “7".

GAS27,1EU35, MIY47, OMA29, SOE39,
USI49,7?

(A) WUMS7

(B) WWO6I

(C) YUMS9

(D) YWNG62

EiEiL

wii

Q18 Study the below series and identify what can QI8
come in the place of “7".

3947, 4379, 7493, 9734, ?
(A) 9437
(B) 7934
(C) 4793
(D) 3947

Q19 Ifthesymbols*+"and “"arcinterchanged, Q19
“x" and “+" are interchanged, and also the
digits 3" and *7"" are interchanged, then what
will be the value of the below equation?

83x7-79+63+7
(A) =133

(B) -350

(C) 244

D) SN

LM-A 10

Fr=fefta saen &1 g 3R w19 & &
weAafaes (“7) & WM W S | U8
ST |

GAS27, [EU35, MIY47, OMA29, SOE39,
USI49, ?

(A) WUMS7

(B) WWO6I

(C) YUMS9

(D) YWN62

Frafafaa yaon @) wd ik a o &
wefaE (“77) & W W B 6 qen
gt |

3947, 4379, 7493, 9734, 7
(A) 9437
(B) 7934
(C) 4793
(D) 3947

afz Frfafas wfeo § o e o
& UH-gE W 4o R g, xR
“ B [H-gER 9 9gd fm o, awn
i@t “3" 3R “7" B N (H-g | q5d
fear wmg & A Ry v afiser a1 9
T B

83 x7-79+63+7
(A) —133

(B) -350

(C) 244

D) 511

SERIES-A-A



Q20

Q21

LM-A

The ages of husband, wife and their son are

in the ratio of 10 : 9 : 3. To calculate the age

of the son, which of the below pieces of
information is additionally required and
sufficient?

(A) Before 6 years, the age of the son was
20% the age of his mother then.

(B) After 10 years, the sum of the ages of
all three will be 30 more than the sum
of their present ages.

(C) The difference between the age of
father and son is more than the
difference between the age of mother
and son.

(D) The sum ofthe ages of all the three isa
perfect multipleof 11.

The perimeter of a rectangular ground with

corners A, B, C & D is 28 metre. To

calculate the area of the ground, which of

the below pieces of information is

additionally required and sufficient?

(A) The length of the diagonal AC is same
as the length of the diagonal BD.

(B) Thesum ofthe diagonals is 8 metre less
than the perimeter of the rectangle.

(C) The perimeter of the rectangle is greater
than 50% of the area of the rectangle.

(D) Thesum of all the internal angles of the
reclangle is 360°.

11

Q20 ufty, o=l 3R T U3 & AR & I

Q21

10:9:381 95 & I A TOFET B B

forg, Fr=iforfaa 3 @ gz & fsw aiw

# sfoRas w9 & smawgsda gl o

e iy gy?

(A) 6o qd, q= & 3Ry T Wy aHE)
Hi @ 3G B 20% |

(B) 10 arg, fT A 3y @ @,
S A Y B AT 9§ 30 A
B |

(C) fem 3 g3 & W= ARy &1 afe, Hf
I 03 & 7= g B oW 9 i
L

(D) =it ot arrg @t @ 11 @ get o
B

A, B, C 3R D ®F 9/ mgarar fgr

w1 gftamg 28 Aex &) AT @ dEwaE

v & @ o, Frafefaa 3 9 gan

# fa aim & afaRes v 4 amasm

grft o vate oft B

(A) fawvt AC P Farg woeht € Rrereh
fawvi BD @ ward 8

(B) e & Rl @ avr snga @
nfam & 8 few 9 &

(C) amrd &1 ufem, A & Sawd @
50% s &)

(D) smaa @ it saR® it & am
360° &1

SERIES-A-A




Q23

LM-A

We need to find the value of *a’ from the
below two equations, if both a and b are

positive integers.

FLLFPLTGOL

1) 2a+b=22
2) 3a-2b=12

Now, read the below options and select the

one that applies.

(A) Only Equation | issufficient to derive
the value of *a’.

(B) Only Equation 2 is sufficient to derive
the value of 'a’.

(C) Neitherequations 1 or 2 alone are
sufficient, but both together are required
to derive the value of *a’.

(D) The value of “a’ cannot be derived by
any individual equation or even by both

equations combined.

Ifina coded language *PEASANT is writlen
as ‘RQYVYHN’, how will ‘RANCHER ' be
written in the same language?

(A) PHFFPDL

(B) PLDPHFF

(C) PHFFLDP

(D) PFFHLDP

Q22

023

gie a 3R b wTE g € @
Frafafae ot | & 9" &1 5[
ST &I BT

1) 2a+b=22

2) 3a-2b=12

s, A=t fAwesy g8 ok o |
N Aeen a8, gwa ga7 A

(A) ‘a’ & "F Fia o3 & o0 Faa
e | g R

(B) ‘a’ @ W & & & AU Fad
witewr 2 gyl &)

(C) *a’ &1 71 ¥ &) & fog 1 &
aren witae | gt & ol 9 @
Jepell WA 2 que B, g @
| i anavas ¥

(D) ‘a" & "1 5l 0 v wiewo |
781 =ia v o weo B wwi O@
fas 211 Wil g su a0
el s fohar an wem &

H He Wi A ufd PEASANT' &
‘RQYVYHN’ feran wman &, @ a9 g
HHT 71 RANCHER® @Y @91 feran wmgn?
(A) PHFFPDL
(B) PLDPHFF
(C) PHFFLDP
(D) PFFHLDP

SERIES-A-A



b e "

0024

Study the given table carefully to answer the
question that follows

Sale (in ¢rores) of no. of units by four
companies (cos.) over the years (yrs).

Coayr] 2015 [ 2016 [ 2017 [2018
A 1158 | 857 | 589 | 46.6
"B | 150.0 | 763 | 37.2 | 390 |
C | 933 | 695 [ 537 [489 |
"D 1806 ] 1111 ] 212

334 |

Which company has sold the maxamum num-
ber of units over the years?

(A) A

(B) B

(C) C

(D) D

If P+Q impliesP-0Q
P-0Q impliesP = Q
PxQimpliesP+0Q
P+QimpliesP+0Q

Which of the following is TRUE?
(A) 1+2-6=3+8=8
B) 6+2-3x]1+4=12
(C) 25+6-45x9+23=18
(D) 10+4-3%x]+2=5

D4TE1T4

025

13

Q24 F=fafea ofes &1 ik 4 @ R

gad arg fRe v gz &1 Iww )

ar Fufrdt g Red ow i 4 @ T
afyea @ fas (@3S )
w./ai] 2015 [ 2016 | 2017 2018 |

A 1158 | 85.7 589 | 466
‘u_ 150.1 | 763 | 37.2 [39.1

¢ [933] 695 537 |489
33.4_

D [ 180.6 [ 1111} 212

fiea oo a9 4 fw @Fof 3 i
e # gfea & faht a7

(A) A
B) B
(C) C
(D) D

ufé P+Q @1 I BP-Q,
P-Q@t aef 8P xQ,
PxQ®r 3Rt 2P+Q,
P+QF el & P+Q,

fa=ifefaa 4 9 919 W Tw= w27
(A) 1+2-6%x3+8=8

B) 6+2-3x1+4=12

(C) 25+6-45%x9+23=18

(D) 10+4-3x]122=5

SERIES-A-A




Q26

Q27

Q28

SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

Computer tools such as Word, Excel and
Power Point are products owned by which
of these companies?

(A) Intel

(B) Apple

(C) Microsoft

(D) Google

Timothy Donald Cook, popularly known as
Tim Cook, is the Chief Executive Officer
(CEQ) of which of these companies?

(A) Google

(B) Twitter

(C) Amazon

(D) Apple

In the context of Microsoft Word, there isa

feature called “Gutter Margin®. What is this

feature used for?

(A) Improve the clarity of graphics and
images

(B) Give provision for better document
binding

(C) Improve the clarity of the printed text

(D) Facilitate the insertion of page numbers

11&26778

14

026

Q27

Q28

e & Tou I 5 Word, Excel alR
Power Point A=ifeifesa 3 @ v oo+t &
wreTe #

(A) Intel

(B} Apple

(C) Microsoft

(D) Google

iRl dFres @, o fow &% @ W
€ i o 8, Prefafaa 4 @ e
&0l 3 quwa srds sfred
(Chief Executive Officer (CEQ)) #

(A) Google

(B) Twitter

(C) Amazon

(D) Apple

Microsoft Word & we # rew siftf

e wren @ Prefafan 8 @ e

forg Suznr fasar s &7

(A) Tfthaw e frst & wrean 4 wquR
v & fog

(B) &R Sfapite agfin & wiva @
ferg

(C) fids 2ave & wrem ¥ yur Fwt
@ foy '

(D) 7= HeEARil #1 31 @) g yem
& & farg

SERIES-A-A



029 Which of these districts of the state of Uttar Q29 TR WS W B F1A | foren urd &

Pradesh does NOT share its border with A R A A 98 S 87
Nepal? (A) dreinfa

(A) Pilibhit (B) smawh

(B) Shravasti (C) #emge

(C) Sitapur (D) TENTATS

(D) Maharajganj

Q30 Which of these districts of Uttar Pradesh lies Q30 I vew & I W faen Iww wew

on the UP-Bihar border? A fagw &t i w Rua 27
(A) Basti (A) T&h

(B) Bulandshahr (B) FecwmwE

(C) Banda (C) @i

(D) Ballia (D) aferan

Q31 Name the national leader who undertook a Q31 uB W | TSy A € st ad 1983

marathon walk called ‘padayatra’ from i FaEad W daw Rl @ wowe
Kanyakumari to Rajghat in Delhi in 1983. aF TEEr S e 7 dga @
The intent of the yatra was to renew rapport i of? g9 AT o SEYW ANAG TAl
with the Indian masses. @ W HaG B AP DN oAl |
(A) Chandrashekhar (A) wdIER

(B) LK Advani (B) @Tergr Hrsarl

(C) Ram Vilas Paswan (C) ywfaar area=

(D) V.P.Singh ; (D) & @ fHe
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Q33

Q34

LM-A

Name the Indian Prime Minister who
announced in the parliament that he would
implement the Mandal Commission's
recommendations. This declaration triggered
nation-wide protests in India.

(A) RajivGandhi

(B) VP Singh

(C) Chowdhary Charan Singh

(D) Chandrashekhar

Which city in Uttar Pradesh is called ‘suhaag
nagari’ because it is famous for making glass
bangles?

(A) Firozabad

(B) Gorakhpur

(C) Varanasi

(D) Bareilly

Who among these following leaders is also
the head priest of the Gorakhnath Temple
and Math?

(A) Uma Bharati

(B) YogiAdityanath

(C) Sri Sri Ravi Shankar

(D) Mahant Paramhans Das
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TH AN WenAEA & a am # Sl
H9g ¥ us umon & o 5 ag s=w
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=90 # wRa # dwendt A9y 4w 8
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(A) writg TR

(B) 41 fiz

(C) =rrt avor i

(D) T=9ar

TR vew @ fhu wEw ® e 0§
WEI G &, 9% w8V e &) 98t aam
® fog wftg 27

(A) e

(B) TR@Eq

(C) TR

(D) T

Fr=faft Sani 4 9 o 9 3@ e
Afew 3R W & e qond) f &7

(A) 91 HREf

(B) anft anfawrm

(C) = st ¥ viw

(D) W&a TWHEY T
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Sarnath, the sacred place where Lord
Buddha delivered his first sermon, is located
very close to which of these cities?

(A) Mathua

(B) Ayodhya

(C) Jhansi

(D) Varanasi

Which part of Uttar Pradesh is famous for
the delicately embroidered sarees called
“Chikankari sareces™?

(A) Moradabad

(B) Lucknow

(C) Meerut

(D)) Prayagraj (Allahabad)

Name the poet and saint who wrote
Ramcharitmanas, another version of the
Ramayan.

(A) Ravidas

(B) Surdas

(C) Kalidas

(D) Tulsidas

Mame the South Indian King who
vanquished the forces of the Dutch East India
Company in 1741 in the battle of Colachel.
(A) VeemPandya Kattabomman

(B) RajaRajaChola

(C) Marthanda Varma

(D) HaiderAl

LM-A
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W, a8 ufad e 9Tl W 4 -
AT gEett duae Ry e, aw e
fq vy & "ga Fuds fed 872

(A) ®HeR1

(B) 3w

(C) i

(D) Ao

AR WRW B BT W owase frwaerd
Wiyl s gav wer e wifd &
fore uftig 82

(A) R

(B) &

(C)

(D) warT (gaTETars)

a8 @1 9 HfY 3R wa & freh e
@1 U g HeEv vHaiaEr fan
o1’

(A) e

(B) ¥yem

(C) miferara

(D) gerier

afE wva @ fa oo A w1741 #
Fraraa # Jord 1 =9 §ve gew weh
@ g far a?

(A) dRmarsar HEETEA

(B) @S e A

(C) wrfvs ot

(D) Baw aeh
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MName the famous warrior begum from the
principality of Awadh, who fought the British
as part of the 1857 mutiny?

(A) Begum Hazrat Mahal

(B) Begum Raziya Sultan

(C) Begum Jahanam

(D) Begum Meherunnissa

The first emperor of the Mughal dynasty,
Babur, has written an autobiography in his
native tongue of Chagatai Turkic. What is
the name of this book?

(A) Mughalnama

(B) Babumama

(C) Baburmubarak

(D) Baburbihaya

When Atal Bihari Vajpayee became the
Prime Minister for his first tenure in 1996,
what was the closest approximate duration
ofhis Prime Ministership?

(A) Twodays

(B) Two weeks

(C) Twomonths

(D) Twoyears

CiwiDOLL
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Q39 army @ Ramra @ 9w ufg e am

Q40

@ Am g & e 1857 % e #
3 & W B areht weE A am e
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(A) T BUIE HE

(B) aw% o e

(C) a7 R

(D) =a dgwfera

T g9 @ Ugel WHE ey A )
2 wmn wrand gfee 9 s aneren
foredh 21 39 qwe @ Aam T 87
(A) T

(B) FrEw=I

(C) TEATHARS
(D) FmaxfEm

1996 # v ared fAEd g gwed aw
WEEA 49 4, o 99 paEEE & W 1
FW B D AT gl e 89
(A) =1 fa= :;

(B) = &

(C) =1 7R

(D) < W
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Name the celebrated physician in the court
of King Bimbisara who was the personal
physician of Lord Buddha himself.

(A) Ajathashatru

(B) Sariputta

(C) Jivaka

(D) Rahula

Which of these statements is TRUE with

regard to the poem * Amar Sonar Bangla’

penned by Rabindranath Tagore?

(A) It was Tagore's first ever poem.

(B) This poem later was adopted by
Bangladesh as its national anthem .

(C) This poem fetched Tagore the Nobel
Prize.

(D) The poem was a school prayer at
Shantiniketan.

India's 5-year plan system was adopted from
Russia. Name the Russian leader who first
implemented the 5-year plan approach in
Russia.

(A) Viadimir Lenin

(B) Joseph Stalin

(C) Leonid Brezhnev

(D) Nikita Khrushchev
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(A) ST

(B) wiRys

(C) it

(D) wEet

it &R g forddt 78 Sfm amR

HER e & Hay 7 Freafafaa 4 @
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(A) wnfEiR afF=
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Near which European capital would you find
the Palace of Versailles?

(A) London

(B) Paris

(C) Rome

(D) Brussels

The two famous universities of Oxford and
Cambridge are located in which country?
(A) France

(B) United States of America

(C) United Kingdom

©) laly

How many total biosphere rescrves are there
in India?
(A) 10
B 12
(C) 18
(D) 25

The Dandeli Wildlife Sanctuary is located in
which Indian state”

(A) Kerala

(B) TamilNadu

(C) Telangana

(D) Kamnataka

ZivLiB0L
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Q47

it o1 wee Pttt 3 9 v gk
T @& ure e &7

(A) o&a

(B) uivs

(C) ¥

(D) a¥ed

JiFaerd oft Bfaw e @ uftrg
Rreafaerem Frafafaa 5w 2n 9 feua
8?2

(A) Wi

(B) ¥iyaw won e

(C) gmEes fren

(D) gee

TR # fd fad Wit daves
(araresrae o) 87

(A) 10

(B) 12

(C) 18

(D) 25

Tiee! SOl IMARYY Wia @ e
oy § Rem 87

(A) e

(B) ffe g

(C) e

(D) FFles
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In which of these hill stations would you find
the Cheevapara Waterfalls, Pothamedu
View point and Attukad Waterfalls?

(A) Munnar

(B) Ooty

(C) Kodaikanal

(D) Yercaud

The city of Venice, criss-crossed by canals
and bridges, is located in which country?
(A) Denmark

(B) Scotland

(C) France

(D) ltaly

Mount Etna, considered to be the most
active volcano of Europe, is located in:

(A) Portugal

(B) Spain

(C) Greece

(D) ltaly

Q49
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Q50

Q51

frferfa 3 & v e wwm w s
TGRS, YRy Frse IR AgGHS
g fedr?

(A) H=IR

(B) A

(C) Pregdra

(D) W8

afw wEe ot et ofie gt 9 gaa @
fr=ferfian frm dur & Rem 27

(A) ST

(B) w@icais

(C) Wi

(D) el

nEe te, o g &1 waw Afha
ATl w8, a8 et 3
@ w29 9 Rem &7

(A) gePme

(B) ¥

(C) W

(D) geeht
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Ponmudi is a small hill station in South India.
Itis located near which of these cities?

(A) Kozhikode

(B) Madurai

(C) Thiruwvananthapuram

(D) Mangluru

Name the city that is the capital of Western
Australia.

(A) Darwin

(B) Perth

(C) Brisbane

(D) Hobart

Article 161 ofthe Indian Constitution confers
pardoning powers and commutation of
Sentence powers on;

(A) The President of India

(B) The Prime Minister of India

(C) The governors of various states

(D) The Chief Justice of India

Articles 5 to 11 of the Indian Constitution
deal with which of these aspects?

(A) CitizenshipofIndia

(B) Languages in India

(C) Boundaries of Indian states

(D) Education for children

12412

22

Q52

Q53

Q54

Q55

o), o wE & o vier W i
WA 8| g8 e e & urw Rem &2
(A) FIfFwrs

(B) wgwE

(C) Rreasagwm

(D) T
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(A) wrer @ ApTRaar
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Q56 Asof April 2019, who is the Governor of

Q57

Q58

Q59

the state of Maharashtra?
(A) ES.L.Narasimhan
(B) C Vidyasagar Rao

(C) Palanisamy Sathasivam
(D) Anandiben Patel

What does article 300A of the Indian

Constitution aim to guarantee?

(A) No person shall be deprived of his
education.

(B) No person shall be deprived of his
marital rights.

(C) No person shall be deprived of his
property.

(D) No person shall be deprived of his
privacy.

Articles 324-329 of the Indian Constitution
deal with which of these aspects?

(A) Elections

(B) Minorities’ protection

(C) Panchayats

(D) Powersofagovernor

Currently, what is the highest percentage slab
for the new tax regime called Goods and
Services Tax (GST)?

(A) 18%

(B) 25%

(C) 28%

(D) 32%

LM-A
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Ffel 2019 T TUAE TEGN B FTAR
HEWTS, IS @1 TedaTed A 87

(A) EyaTE TR

B) # famrr e

Wi WA o1 e 300A Frefafta

4 fewah TN I &7

(A) ® W afe aoh Ren @ dfE
61 |

() Y W @l ae darfes s
A dfaa w8 wm

(C) # i af sl wWfer @ dfea
78l Yo |

(D) ® *f wfie st Fraen (urgad)
¥ dfea =8 @)

g w@fau & s 324-329
fPrerfafa 4 9 fow weq 9 e &7
(A) g9

(B) JcTHEASD] I G

(C) darad

(D) & voaTE & nfddt

aie ¥ oG W@ AW W (TS @

wifda &9 (GST)) THE 718 TV aawed
% forv Seaom wie = e 87
(A) 18%
(B) 25%
(C) 28%
(D) 32%
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Q60 Bezwada Wilson isasocial activistwhowas Q60 Fwarer fies v Wi sriwal &

Q61

Q62

awarded the Ramon Magsaysay Award in
2016. What is his sphere of social activity?
(A) Eradication of child labour

(B) Emdication of female infanticide

(C) Eradication of manual scavenging

(D) Eradication of child marriage

With which foreign country is India
collaborating to develop the supersonic cruise
missile called Brah Mos?

(A) France

(B) China

(C) Japan

(D) Russia

Prime Minister Narendra Modi addresses the
nalion through his radio broadcast called
‘Mann ki Baat’. When did this program get
aired for the first time?

(A) October 2014

(B) October 2015

(C) October 2016

(D) October 2017

Q62

€ 2016 % ¥ Hrdy e & s

feran T o @g Frefafua 4 9 s

& ¥ g wenfre afaffal s #

(A) AT 57 BT T

(B) &= YUT B &1 T

(C) #ara whdform (g @ fsan B3
HEE HE) B G

(D) aret fAame &1 F=ger

Brah Mos & Ui e aw s
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(A) wiE

(B) =

(C) o

(D) &4
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(A) SFRET2014

(B) IRET2015

(C) ¥awav2016

(D) 3TREER 2017
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Q64
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United States is the country with the world's
largest GDP. Which country comes second
in the global GDP ranking?

(A) Japan

(B) Germany
(C) China

(D) India

Abdelaziz Bouteflika, the President of
_,hasresigned in April 2019 bowing
to public pressure.

(A) Sudan

(B) Libya

(C) Chad

(D) Algeria

Name the new CEO of the Intemnational
Cricket Council (ICC) after the Cricket
World Cup 201 9:

(A) Sunil Gavaskar

(B) Sharad Pawar

(C) Manu Sawhney

(D) Rahul Johri

Name the ex-CEO and MD of Ashok
Leyland who took over as the CEO of Royal
Enficld.

(A) Vinod K. Dasari

(B) Dheeraj Hinduja

(C) Rajeev Dubey

(D) G.V.Prasad

LM-A
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Name the cricket team that is number 2 in
international test ranking, as per ICC, asof
March 2019.

(A) New Zealand

(B) South Africa

(C) Australia

(D) England

Who was chosen as the captain of the Delhi
Capitals team for IPL 2019 season?

(A) Virendra Sehwag

(B) Ravichandran Ashwin

(C) Shreyaslyer

(D) Shikhar Dhawan

In which state has the National Cancer
Institute (NCI) been set up in early 2018?
(A) Rajasthan

(B) Punjab

(C) Haryana

(D) Himachal Pradesh

Q67 T 2019 T JUTE] AR B AR,

Q69

Which is the leading areca nut producing state g Q70

in India?
(A) Kerala
(B) WestBengal

(C) Manipur
(D) Karnataka

LM-A

g saeisha 3w Hem A v 2w
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(B) &févr s

(C) sifeferan
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(C) #u¥ Iar
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Name the 70-year-old lady from Odisha
who was awarded the Padmashri award for
her work of preserving of hundreds of types
of paddy seeds throughout her life.

(A) S. Thimmakka

(B) Kamala Pujari

(C) Harika Dronavalli

(D) Muktaben Pankajkumar Dagli

The first areca nut to get the Geographic
Indications (Gl) tag is the Sirsi Supari. In
which state is this supari grown?

(A) Kamataka

(B) Bihar

(C) Andhra Pradesh

(D) Odisha

In which town of Uttar Pradesh would one
find the 11 storied Pagal Baba Temple?
(A) Vrindavan

(B) Varanasi '

(C) Samath

(D) Chitrakoot
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The tomb of which of these ancient emperors
is located in the Sasaram town of Bihar state”
(A) Bahadur Shah Jatar

(B) Alauddin Khilji

(C) Sher Shah Suri

(D) Qutb ud-Din Aibak

The area called Bundelkhand comes under

which of these borders?

(A) Uttar Pradesh— Bihar Border

(B) Uttar Pradesh — Madhya Pradesh
Border

(C) Uttar Pradesh — Nepal Border

(D) Uttar Pradesh — Uttarakhand Border
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SECTION-3 | GENERALSCIENCE /ARITHMETIC | S0 QUESTIONS

What was the name of the mission. an anti-
satellite missile test, carried out successfully
by the DRDO on 27 March 2019 from Dr
APJ Abdul Kalam Island launch complex?
(A) Mission Parakram

(B) Muission Shakii

(C) Mission Vikram

(D) Mission Sahas

What is the application of the GSAT-31
satellite launched by India on 6 February
20197

(A) Earthobservation

(B) Navigation

(C) Climate and Environment

(D) Communication

Name the nuclear-capable surface-to-
surface intercontinental ballistic missile
developed by the Defence Research and
Development Organisation (DRDO).

(A) Prithvilll

(B) Trishul

(C) Agnis

(D) Barak-8

Which of the following is a part of the
process involved in water cycle?

(A) Evaporation

(B) Sublimation

(C) Freezing

(D) Meking

LM-A

ZivESRD

29

Q76

Q77

Q78

Q79

DRDO g/ 27 ®rE 2019 &1 21 vdial
ygd dam g gager afvey 9
WA Tel-Heange Manga afiwm
fa arar en, g9 fWem &1 sw @ en?
(A) firer qammn
(B) fyoe ofas
(C) M= e
(D) = wEw

6 HYEYl 2019 ¥ WA g @i [y 1y
GSAT-31 995E &1 Feafafaa 4 @ a1
1w 87

(A) el 1 JaAiHA

(B) " ug+

(C) ierarg 3 aremawvl

(D) Haw

w1 A s @@ wes (DRDO)
HI1 B W AAE IV Faw i gee- e
yv-weiEda afafes Maga & am
aq &7

(A) gedtin

(B) FE@
(C) #ft1 5

(D) T9=-8

Frefeiftas & | @ @ uftba @ = 4
wifva uftban &1 v R 87

(A) arafrasvor

(B) SedumES

(C) fedframwor

(D) e

SERIES-A-A




Q80

Q81

Q82

Q83

084

LM-A

Deficiency of which mineral causes anacmia?
(A) Magnesium

(B) lron

(C) Zinc

(D) Lead

Which of the following is a commonly used
chemical method for purifying water?

(A) Hibemation

(B) Excavation

(C) Chlorination

(D) Denitrification

Which of the following is the source of
freshwater?

(A) Ocean .

(B) Sea

(C) Brine

(D) River*

Which of the following is a good source of
vitaminA?

(A) Fishoil

(B) Sugar

(C) Banana

(D) Coconutoil

Sound CANNOT travel through:
(A) Gas

(B) Vacuum

(C) Liquid

(D) Metal

ELPESLLL
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Q85

Which form of energy causes a matchstick
to ignite into a bright flame when the
matchstick is struck against the match box
surface?

(A) Potential energy

(B) Kineticenergy

(C) Chemical energy

(D) Wind energy

Q86 (CGS system of measurement units stands

Q87

| Q88

for:

(A) Coulomb, Gauss, Steradian
(B3) Celsius, Grade, Second
(C) Centiliter, Gallon, Siemens
(D) Centimetre, Gram, Second

In Electronic Communication Systems, noise

refers to:

(A) unwanted signals that tend to disturb
the transmission and processing of
message signals

(B) loud music harming the eardrums

(C) sensation of hearing that is not audible

(D) unwanted sensations that disturb
messages

Which of the following is TRUE about the

process of evaporation?

(A) Itdoes not depend upon humidity level.

(B) Itincreases with increase in surface
area.

(C) Itdecreases with increase in wind
speed.

(D) Itdecreases with increase in
temperature,

LM-A
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Q85

Q86

Q87

Q88

mfere o faefy o) wow | o afoe @
et et &, & F9 &1 9 |9 w5y
UE audTe) & 3 goafaa B9 & s
g 87

(A) Rerfas st

(B) wftra &t

(C) wrwmafys wal

(D) @y Sl

A9 gl A CGS wonedt 1 Fe=iferfaa
i | @ uftamr &2

(A) e, Tite, wfean

(B) Hfewgw, 18, d@me

(C) Hfeferey, am, dnfg

(D) ¥&Mier, um, dFs

g Har wonferit f win Frefefa

# 9 f wafife o 87

(A) smaifee Rrren ot w2y Rraen @
THNOT 3R wHwnIO H amn g #

(B) &1 @ JHEr ggur aren a9
m -

(C) ¥ wfy g o g vy A 8

(D) araifove HWagmg o wawl § ann
grerd 8

gt ) uftvn @ anr A Feafafe

# 9 am ud 27

(A) T8 0 & wr w® PR ad e &)

(B) 7® wWoE @ &3 7 gfg 9 W agd
gl

(C) a® gar @ wfy % gfE & W ue
e &1

(D) 7& o= # gfg €9 W ae awh
(4!
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Q89

Q93

Plaster of Paris is a product of:
(A) magnesium

(B) aluminium

(C) calcium

(D) sodium

Which of the following statements is TRUE

about natural rubber?

(A) Itisanatural polymer and possesses
elastic properties.

(B) Itisanartificial polymer and possesses
elastic properties.

(C) hisnota polymer but possesses elastic
properties.

(D) Itisanatural polymer but does not
possess elastic properties.

Which of the following is a form of calcium
carbonate?

(A) Washing soda

(B) Baking soda

{C) Limestone

(D) Table Salt

Dietary intake of is essential for
the normal functioning of thyroid gland.

(A) sodium

(B) calcium

(C) wodine

(D) potassium

Which microorganism is Penicillin obtained
from?

(A) Amoeba

(B) Vins

(C) Protozoa

(D) Fungi

LM-A
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Q89

092

Qo3

ey sl afva Pl 4 9 e
UF Jug 87

(A) Fhiferam

B) wegffas

(C) @fearam

(D) wifeaw

TP R @ ar # Prafafea 4 @

S W wE w87

(A) T8 U@ wigfos agas § s gwd
wTEar 7 B £

(B) uE Us o agas & v ge
ArEER o B 2|

(C) u® % dgas 18l & afbq gad
R v )

(D) T8 UE Wiplow aga® & dfd gad
araer o w2 8 &)

F=fefaa A 9 =5 ar $fearm sEFe
W v w9 Y

(A) @i s

B) T wHer

©) TR

(D) 2ad i (F9)

ag, (uradiae) 9 & | S
% forg amer A Fre=fafaa 4 4 e
HaT BN TES 'Y

(A) HfEmm

(B) fewam

(C) s

(D) urfram

affafer fim sgerlie A wia g &
(A) arfian

®) Ry

(C) wiersian

(D) &a®
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Q94

Q95

Q96

Qo7

Q98

LM-A

Which of the following diseases is caused
by the deficiency of vitamin A?

(A) Rickets

(B) Scurvy

(C) Nightblindness

(D) Pellagra

Which of the following discases is caused
by the deficiency of vitamin B1 (thiamin)?
(A) Rickets

(B) Beriberi

(C) Night blindness

(D) Pellagra

Which among the following is a vitamin
deficiency disease in which dark red patches
occur on face, neck, hands, calves and feet?
(A) Pellagra
(B) Thyroid
(C) Anemia
(D) Keshan

Blood enters the kidney through the:
{(A) renalartery

(B) external iliac artery

(C) axillary artery

(D) ulnarartery

Which among the following organs secretes
bile juice?

(A) Hean

(B) Brain

(C) Kidney

(D) Liver
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:

Q95

Q%6

Q97

Q98

e A d &0 @ Prafafea a4 85
|1 IT BYEw &7

(A) Raew

(B) wndf

(C) eifed

(D) damn

faerifm B1I (Rrafms) & &6 @
Fr=fafaa d @ #1997 & 27
(A) Raew

(B) a9

(C) it

(D) G&mm

fFr=fafaa 4 9 &9 s Refis 5 a6
& HO B A 9 & re 98 e,
BRI 3R 49 av Y @ 9 @ ga) 92
oy &

(A) &M

(B) amadius

(C) yeiifian

(D) &I

fpeit e 12 9 v PrafResa 4 4
fora wem @ ude wwar &7

(A) 9% o+l

(B) aEd giorars avh

(C) ==ira (vfdwrad) evel)

(D) 3w wsiftawsr (@) @

Frr=forfEae aint 4 @ @ @ s B

&1 " Har 47

(A) BeY

(B) #f¥rss

(©) &

(D) aFa
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Q99

Q100

Q1

Q102

LM-A

Which among the following diseases is very
rare in womnen as compared to its occurrence
inmen?

(A) Myopia

(B) Kidney stone

(C) Braintumor

(D) Colourblindness

Haemoglobin is the protein inside red blood
cells that carries:

(A) oxygen

(B) carbondioxide

(C) nitrogen

(D) ozone

Which of the following is equal to
8.13 » 1077
(A) 831000
(B) 8310000
(C) 813000
(D) 8130000

When 0.353535... is converted into a
fraction. then the result is:

35
@ 5

35

Q99 Fr=fofaa & |4 &= & 9 qodl @

o A g # aga a9 g 87
(A) Frregite <M (araifin)
B) et § o

(C) # ey
(D) auiferr (@ wndeaw)

Q100 gmranfaa ara waa @l & ey

& D e & v aw Preafofea #
fraer 987 e &7

(A) affadiom

(B) T SRS

(C) g

(D) 3T

Q101 fr=fafaa 4 @ & W fws

8.13 x 10° & avraw #7
(A) 831000
(B) 8310000
(C) 813000
(D) 8130000

Q102 w4 0.353535... &1 =1 & agan mar &

ar uRom @ #m?

35
99

35

(A)

(B)

(©)

(D)

100
15
19

=
99

(B)

(C)

11274174

(D)

34

100

15
19

99
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Q103 What is the HCF of 22x3"x 5%« 7,
2x ¥ x5 xPand x3x5<T?
(A) 210
(B) 420
(C) 1005
(D) 1050

. - D e e

r Q104 Solvethe following.
| J}—-ﬁ -—l =7
Bl 9

(A)

Dlwuw O de

(B)

(€)

(D)

Sl O -

Q105 A number is as much greaterthan 55as it is
lesser than 79, The number is:
(A) 59
(B) 63
(C) 65
(D) 67

Q106 The sum of three consecutive numbers is 96,
The greatest among these three numbers is:
; (A) 28
(B) 31
(C) 33
(D) 43

LM-A

Q103 22x 3% 5% 7, 2x3'x 5« TP 3R
2y 3% 5% TP T HETH FUIIGAE
(HCF) 51 &47
(A) 210
(B) 420
(C) 1005
(D) 1050

Q104 Pt & g5a )
\P_Tﬁ_l_q
=9

(A)

(B)

(€)

el wl= Sl O|ds

(D)

Q105 U@ e, 559 Ia- & 98 & i s
a8 79 ¥ BIEl 8| W S| i
(A) 59
(B) 63
(C) 65
(D) 67

Q106 wrmar 9 wEmRl F1 I 96 81 &
i weei § wa 9 we @ W
#?
(A) 28
(B) 31
(C) 33
(D) 43

5 SERIES-A-A




Q107

Ol08

Q109

0110

Which of the options will come in place of

the question mark (?) in the following
equation?
128 = 16x3-Tx2
7-6x6-3
(A) 16
(B) 49
(C) 60
(D 128

1000 boys and 600 girls are examined in a
test. 43% of the boys and 35% of the girls
passed. The percentage of the number of
candidates who failed is:

(A) 40%

(B) 50%

(C) 58%

(D) 60%

A finishes a work in 9 days and B finishes
the same work in 18 days. In how many days
will they together finish the same work?
(A) 3days

(B) 6days

(C) Bdays

(D) 9days

How many minutes will Preethi take 1o cover

adistance of 500 m, if she runs at a speed of

30 km/hr?
(A)
(B)
(C)
(D)

| min
2min
Smin

fimin

LM-A
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Q107 Fr=fafaa wlewn 0 uefag () &

= gy Frafafan 8 4 @9 o Res
aem’?

128+ 16x3-Tx2

7-6x%6-3

(A) 16

(B) 49

(C) 60

(Dy 128

faedt gdten & 1000 &7s® 3R 600 F3fFT
1 T o el & 1 d@et A 9 43% 3R
@il 4 9 35% T o &) oF BN
arel BTAl B fel wioe
£

(A) 40%

(BY 50%

(C) 38%

(D) 60%

Q109 A feit wm @ 9 e # qu @ § afiw

B3 &M &1 18 Re A qu oawen @) 3
2t ar fve w5 ol sm @ e RBe
i g He?

(A) 3f2=

(B) 625

(C) 8fa=

(D) 9fa=

Q110 afE Bfy 30 km/hrdh nfd A drah 8 o

I 500 m A g B A w A o
W A

(A) Imin

(B) 2min

(C) Smin

(D) 6min

SERIES-A-A




QL

Qli2

QI113

Q114

Which of'the following cars with speed given
below is the fastest?

(A) 90 km/hr

(B) 25 m/sec

(C) 1500 m/min

(D) 100 km/hr

A solid right circular cylinder has a radius of
21 cm and height of 16 cm. What is its
curved surface arca?

(A} 2000 em?

(B) 2002 em?

(C) 2010cm?

(D) 2112ecm?

Two pipes A and B can fill a tank in 16 hours
and 48 hours respectively. If both the pipes
are opened simultaneously, how much time
will be taken to fill the tank?

(A) 10hours

(B) 12 hours

(C) 15hours

(D) 16 hours

Al present, the ratio between the ages of
Vimal and Vinay is 4 : 5. After 6 years,
Vimal's age will be 26 years. What is Vinay's
age at present?

(A)
(B)
(€)
(D)

20 years
21 years
25 years

30 years

LM-A
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Qi1

Q112

0113

Qri4

Ara & wg wifer areh Feafafm R
O @ W dN wad da gy

(A} 90 km'r

(B) 25 m/sec

(C) 1500 m/min

(D) 100 km/hr

U o6 | geia aor @ Boan 20 em
N HEAE 16 cm B FTHS AW AN
(curved surface) E=et w1 ST &9 |
(A) 2000¢em’

(B) 2002 ¢m®

(C) 2010cm’

(D) 2112¢cm?

A v B @1 uigy 6 & @) 16 62 v
48 B2, WUY W W udd 8| afe g
qigy sy @e By i @ Ed @
We W e wwa S

(A) o2

(B) 1292

(C) 15w

D) 1662

aaue W fame iR fasg @ ang @
AR 4:5 8| 6 Hret 9% faae @ ang
26 @ &1 gt | aciErE A fasm @ sy
o #?

(A) 20a9

(B) 21 @

(C) 250

(D) 304
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Q115 Anaccurate clock shows 9 o'clock in the
moming. Through how many degrees would
the hour hand have rotated when the clock
shows 3 o’clock in the aftermoon?

(A) 150°
(B) 155°
[y 175°
(D) 180°

Q116 Ifastraight line intersects the sides AB and
AC of a AABC at D and E respectively

=7
AC

and is parallel to BC, then

AD
EC
AD
DB
AD
AB
DE
BC

(A)

(B)

(©)

(D)

Q117 A system of two linear equations in two
variables is inconsistent if their graphs:
(A) cutthe xaxis
(B) cuttheyaxis
(C) coincide
(D) donot intersect at any point

Q118 If 0 =45° thencos* 0 +sec’ O =7
(A) O
®) 1
(C) 2
D) 25

LM-A
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Q115 s wte &l ¥ag 9 9o & wwa Rard
2 oW S |UeT & 3o fRwrh g @
He o gy fda 30 w gy

(A) 150°
®B) 155°
() 175°
D) 180°
"Q116 af2 fasit Fnger A ABC ot ¥on AB3fR

AC 1, Big @t Y D s E 9w
FHedl 8 3R 98 BC & wwion & o
AE

==

AC
AD
EC
AD
DB
AD
AB
DE
BC

(A)
(B)
©)
(D)

Q117 31 ¥ wiawol A oF gorel 3§ ) 9
T & aff 9ud U
(A) x 38
(B) y et HIE
(C) 3779 &I (coincide)
(D) feareit 0t filg v witredb a1 &Y

Q118 afd 6 =45° 81, & cos? O +sec? B =2
A) 0
B) .1
(€ 2
(D) 2.5
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Q119 Ifthe system 6x—~2y=3, kx - y=2 hasa
unique solution, then:
(A) k#3
B) k=3
(C) k#4
D) k=4

(120 The square of any number is divided by 4,
then the remainder is:
(A) 1
B) 0
(C) either 1 or0
(D) neither | nor 0

Q121 While resolving 1500 into two factors, the
possible number of ways is:
(A) 12
(B) 18
(C) 36
(D) 24

Q122 The ratio of Amit’s age and Anu’s age, nine
years ago was 5 : 7. Then 5 years from now,
which of the following CANNOT be the
ratio of their ages?

(A) 13:19
(B) 11:13
(C) 15:16
(D) 21:25

Q123 Eachofthe interior angles ofa cyclic polygon
with ‘n’ sides measures 144°, Then, the
measure of the angle subtended by each of
its side at the geometric centre of the polygon
[

(A) 30°
(B) 144°
(C) 54°
(D) 36°

LM-A

Q119 af2 womelt 6x—-2y=3, kx— y =2 &1 U
gt (gfe) sa & an
(A) k=3
(B) k=3
(C) k#4
(D) k=4

Q120 f&¥t W wem & @ F1 4 9 e
& un fdeen fu agen &7
(A) 1
(B) 0
. C) WmIAmmAO
~ (D) 713w 71 &0

Q121 1500 # & A wWel 7 e W
el @ fwfom B o wem 27
(A) 12
(B) 18
(C) 36
(D) 24

Q122 r ad ued, afie afw 3 A sy #
U S: 7 o3| A5 At A,
Frafefta § ) @ @ o amg #
9 A8 B wEar 87
(A) 13:19
(B) 11:13
(C) 15:16
(D) 21:25

Q123 *n* Yol a1 US wha agy (ARfes
UiAT) & WS NG B0 B AN
144° 8| o, 9w @ Safd @ W
THP TS YOI T FIY ¢ 07 H
A f&an g
(A) 30°
(B) 144°
(C) 54°
(D) 36°
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Q124

Q125

LM-A

in @—3sind+ 2
f Sin ! —3sin +2

— = |, then & can be:
cos” #
(A) 45°
(B) 60°
(C) 30°
Dy 0°
Club A had won 30% of the first 60 matches

it had played in a particular season. Then
the minimum possible number of additional
matches the Club A should play to achieve ;;
a success rate of 44% in that season is:

{A) 15

(B) 20

(C) 30

(D) 25

410

Q124

Q125

e gin’ { - ;!-E-;in G-+ 2 =& @ 0 frad

cos’ @
AT B
(A) 45°
(B) 60°
(C) 30°
(D) 0°

o AF US I H E@9 U gEd 60
7ol H W 30% " ofid &) &) oe A @)
9 W99 # 44% F Foaa o7 efbe
w1 @ forg o sfaften =pran #g
e wfy?

(A) 15

(B) 20

(C) 30

(D) 25
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SECTION-4 | GENERAL HINDI | 25 QUESTIONS

PsG1 Frfafan ame &1 seags Fifog i
afe A Ry Ty vt (e W 126

LM-A

128) & IR ¥

ey ZaeR 79 @ g9 ok
afffr & oguifes & 81 o,
geivria it ufd=m e & fia #)
fiega waeRr wes afd @ foy fRaar
& o9 wew A =l w8 o
afd wa®T ged o ool ¢ | Maga
FAER T ST §F AT § | S IS
av wew & Rufedl =% o= T8
Bl | gee O [EE arnaneT 1 gor
grn 8, ol ol we=rn &1 ape
g & | e afaw o= dJua A am
art i et @ geafaa s ¥
wfte goen uqeyef star @ & feed
&l @ faned @ dtwa o s
ftrerd—aefiaeer, Rea— el
oel-d anf? v & fore Hegan @rasR
g9 W9 ¥ s ¢ fRemd | aft
fia @1 apg @ o 98 Igq e 9
aiftr fmen wrer =781 v wHar | Ao
yftm a1 e § e A
gfy wr & €9 ard 2 AR w8
e wrfderea # wrefieTem o o) | g9
se VT & Sy # s @l
afw sy sdafRal & d, Remro
v Rufddt & 49 o TaE 3R
wifta @ da e 3k we wew wnfia
g alr uels ot & sdaTea 3
afg &t &1 59 91 & WEEE A B4
~ger wifde ast At werpf aftia
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Q126

Q127

Q128

e & | dire 3 g iR & T
& | g9 7w &1 Hfolka far o wwa #
nRaR® #&R 76 T 3 i
W fPreaRe @t aga ad i
el e €|

frefefaa § 4 o9 W Fom A9 &

wHay 7 Toa &7

(A) fMiagea @8R § g@Eg qramE
&1 =i 8 2

(B) & g adt o 2|

() wRafles Twor e & el
F H ey gfter e 8

(D) dNaga O Bie-48l H Wi
Y W S B

ey A Ywifen w1 Sfga @men

grf:

(A) #a wy gw & men 8

B) & od @ e w fa mw
wifta &% o 21

() et fra =1 wiea g 8 a8t B
& farss =8 |

(D) et i farrsan & aEl fa &
Wi B § |

T ¥ @F W s gEia @
farem 22

(A) Fnfa

(B) W&

(C) gwwifda

(D) FTEiST
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Q129

Q130

Q131

Q132

LM-A

W ®E W UH, FAEY §9E aq@
TIUA U | 3 Wit @1 oo o
V8T B, T 99 quT HET o &7

(A) TgET AR

(B) sfegen

(C) FTEW®
(D) wRu=a

A ey ) 5 sERaE ge @
v s gU i & foran man om
e ®ife & aferfa amga?

(A) TrEE™

(B) sebemaditg

(C) Hufders

(D) =Eafys

frefefem o 9 @9 w1 s afos
&7

(A) =

(B) @

€ 1

D) 2

Freferftee o 9§ @9 w1 v oo
87

() €

B) an

(C) sh

D) ¥

Q133

Q134

Q135

42

Q136

Q137

q + a9 5w wy W & Seme 87
(A) TV

(B) Iaif

(€ gf&

(D) I

v f5E e w1 IgE 87
(A) 3rEgdmTg

(B) wegew

(C) &1

(D) &=

v wftrat wftn qw wfes 11—
I | YWiea ymg-yam et
# 9 f5a dg @ g &7

(A) WHEIUAD

(B) fearanfardroy

(C) waeEw®

(D) RAefRans

FEr #a Righ ae g &1 -
arag ¥ Y@ifa v e & 5 9
& sferefa amgan?

(A) Tmaras

(B) aR=m@ETEE

(C) wfdrdmor

(D) WA

ffefaa 4 4 @ W ve e @
uataardt 87

(A) &

(B) e

(C) wfersm

(D) g

SERIES-A-A




Q138

0139

Q140

Q141

Q142

LM-A

Prerferfaa # @ @ & R g wd
T &

(A) WE—a%

(B) #a—TEd

(C) Te—=ri

(D) Wa—-814g

e weE-gwm & fay wd
el |

(A) FE-TEN

(B) TEN-T

(C) fra-fEmen

(D) P

o gfeal @ uga & Ty Br—
aEgie @ forg U g sy |
(A) Efeafom

B) zfmfus

(C) sfardm

(D) F=Egy

‘TH GE TS AT B o W -
@it g5 # B W w87
(A) T

(B) siferor

(C) HW=ET

(D) JUEH

o T Br— e @ fhw w @
TEER 87

(A) wfemr adfam

(B) ¥/ R

(C) W@

(D) I

EI

Q145

43

Q143

THA 0 @ gy eifta R -

TH W 999 & Ay 9@ & w9

feffan i s w2

(A) S8 Fer & # gl &)

(B) w1 e afiX a8 fEhy Hifda g

(C) A w5 o Py difta fn
oy |

(D) =87 Fer & & ags = ey

Q144

Q146

Hiftd & 6T €

fawm fore @ waivr & gfe W Prafafm

# A P ey Wl Tl &2

(A) 98 gX W, 9807 g¥ W, an w1 ¥

B) g0, g, 98 M @ ¥

(C) =&, =181, T ol 11 & wapan |

(D) M, BE SR B, W @ gdd
Ceini gl

ofedt e gEay @ Wl ol
BIIT?

(A) ufedt | FA

(B) uRsm &%

(C) 9§d Sre—gu e

(D) IR FAT

|ET B F WEl Y@ def @
wE e} T 87

(A) W # B 3R wiRl § @
B) 7 wE ¥ &, 7 9l § g
(C) ¥4 I

(D) w1 U@ W I
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Q147 & wftw & gfowm & fsm &

Q149

Q150

LM-A

dreamen &ret W wEr T R?

(A)
(B)
(C)

(D)

anfesrd
HikTETA
Hfoe=

.un{f-?fh il

Frefafam 4 @ @ @ voen et

# A6] 87

(A)
(B)
(C)
(D)

fd
(A)
(B)
(C)
(D)

fed
(A)
(B)
(C)
(D)

N CEIEGLIGE
fremaa
et

HiRTHTA

&1 Wel WHIGW 9 @ 61 r?
oy a9 |qul

g2t "

HEC I ER D

"I

# e Fefty fwd arl 1d 82
HITE aTOHY

argarmel) are

WH AT

e e

44
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PR L L
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Read the following Instructions carefully :

Fr=ifafea Aidal &) emm @ o

1. Cut of the four alicrnatives for each question, only
one circle for the correct answer is (o be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheel. The answer once marked is not liable
o be chunged

2. The candidates should ensure that the Answer Sheet

is not folded. Do not make any stray marks on the

Answer Sheet. Do not write your Roll No. anywhere

clse except in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care,

-

&s under no circumstances (except for discrepancy in
Test Booklet), another set will be provided

4. The candidates will write the correct Test Booklet
Scries as given in the Test Booklet in the Attendance
Sheet.

5. Each candidate must show on demand his / her Admit
Card to the Invigilator

6. Nocandidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
seal.

7. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty, Cases where a candidate has not
signed on the Attendance Sheet will be deemed not 1o
have handed over the Answer Sheet and dealt with as
an unfair means case.

8. Use of Pencil/Electronic/Manual Calculator is
prohibited.

9. The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall, All cases of unfuir
means will be dealt with as per Rules and
Regulations of the Commission,

10. Alter Examination is over, candidate has 1o return his
Answer sheet o invigilator, Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall
Candidate is only allowed to take Candidute’s copy ol
answer sheet.

11. Candidates are not allowed to take Test Booklet with
them. They have to submit the Test Booklet to the
lavigilwtor after the exam.,
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